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R4.4.26 1 |EHEREEBHGAS). 110,000] 50 55. oool 0 0 0 0 o 55, 000 0 |
R4, 430 2 |REABREFHLGED) 12,000 50 G, oool 0 0 ] 0 0 6. 000 0 ol

Re.41 3 (ETEARRLEE (WHEEM) RS 4.400] 100] 4, aoul 0 0 0 0 4,400 0 0 ol

LA A JEEFRREGAS 2,100  50] 1, osol 0 0 0 0 0 1, 050 0 ul

R&AT 5 |HUUUE(ELIEESHL D) 3,354 sor 1,677 1.677 0 0 0 0 0 0 o|

R4.4.6] & |F V4t (ENEOSHIL 7RI 3.320 50I 1. 660} 1, 660 0 0 0 0 0 0 0

Ra.4.9] 7 [HVV 4L (ENEOSEILTEIR) 3,228 snI 1.614 1,614 0 0 0 0 0 0 |
Ri.4.14] 8 |H VU 48 (ENEOSEIL 7 =IR) 3,455 50| 1,727 1.727 0 0 0 ] 0 0 o}
R&. 417 9 |HVYU R (ENEDSEIL IEIR) 2,992 50’ 1. 495i 1,496 0 0 0 0 0 0 0'
R&.4.24| 10 | V) 248 (ENEOSE L 7 E1F) 3.4 50 1, 735| 1,735 0 0 0 0 ¢ 0 nl
R4.4.30] 11 |H V) 4L ENEOSH L 7 =RIE) 3,378 L] | 1,689 1,689 0 0 0 0 0 0 ol
Re4.13| 12 |BEGEHNTT 74+ AKRSH) 9244 50} 4622 0 0 0 0 0 0 4.622 oI
R&AN 13 [EHEREERME (VT b)) 8,343 25 2,085 0 0 0 0 0 0 2,085 ;|
Ra.a.18| 14 |[BEEIY—FALBRER BRASRIED v —F L) RAF 1 s.400] 100 8 400 0 0 0 ol 8400 0 0 ol

B~38%) | |

Re.4.21] 15 |aE—i)—RAH (SBHCE SRR 1) —A#kSit) 9,900 50I 4, 950| 0 0 0 0 0 0 4,950 0

R&.4.4] 16 |HIBHAERNR (284) (F1ZB~28784) 10,229 50’ 5.114| 0 0 0 0 0 5114 0 of
R&.4.25| 17 |aE—#ERAY GAM 2,137] 50 1, oaal 0 0 0 0 0 0 1,088 ] |

R4.4.4| 18 [ETCHRIEE (2B 12,900f 100 12, 9oo| 12,800 0 0 0 0 0 0 ol
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Ré.4.22] 19 |BFEBERBFEFICE LEAR - BHITEE) 820 IOOI sz0] 820 0 0 0 0 0 0 0 0 o
R4 4.25| 20 |BTREREFE2FCELEAR - BEEEE) 820 1oo| gzof 820 0 0 0 0 0 0 0 0 oI
Re.4.28] 21 |BFHEER (RTFEFICELAL/AR - EEEHE) 820 wol 8201 820 0 0 0 0 0 0 0 0 uI
4Am 215,310 119, 647 26. 958} 0 0 0 0 0 12, 800 67, 164 12,725 EI
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Re.5.22] 1 = 55.165| 90] 49,648 ] 49, 648 0 0 0 0 0 0
R4.5.22( 2 |E2EESEREEHSSESF ALYS 20,130 100 20,130} 0 20, 130 0 0 0 0 0 of
R4.5.28] 3 |EHBAEEHGHES) 110,000] 50 55, 000] 0 0 0 0 0 55. 00D 0 o]
Re.4.28) 4 |EHEFCEREGAS) 2,100 5oi 1,050 0 0 0 0 0 1,050 0 oI

R&5.7| B [HVI it 3,328 so’ 1, sﬁd 1.664 0 0 0 0 0 0 0
RE5.13] 6 |HUU 4 3.333| 50 1, 666 1,666 0 ] 0 0 0 0 0
R4.5.19] 7 |HvU LR 2,802 soJ 1, 401 1.401 0 0 ] 0 ¢ 0 0
RA.5.26] 8 |HUU 4R 2,925] 50 1. 462 1,462 0 0 0 0 0 0 W |
R4.5.28] 9 |HUYLR 3,000 sul 1, 500] 1. 500 0 0 0 0 0 0 ol
R&.5.22] 10 |REAREFR 1.010 5o| 505, 0 0 0 0 0 0 505 ol
Re.5.27] 11 |EHERASKHAL 4,472 5n| 2, zasl 0 0 0 0 0 0 2,236 ol

RA.5.8 12 |2E—-B)—AB(ZFHE PRV —A#%K %) 9,900 %0 4, gaol 0 0 0 0 0 0 4,950 ol
R&5.23) 13 |AE—BERAH(Fr/ IS Fa25Tx0) 38| 5O 173’ 0 0 o 0 ) 0 178 ul

R4.5.6] 14 |EHHAEXRRQCAE~3IATE) BAM) 9,792 soJ 4,896 0 0 0 ) 0 4, 896 0 o|
R4.5.10| 15 |HEHEIEHAM (VIR 2)BAMS 8, 007 25 2,001 0 0 0 0 0 0 2,001 0

RL59] 168 |BTHEH (RFEFIZELE/R - BETAR) 560 100 560] 560 0 0 0 0 0 0 )|
RA.5.101 17 |BFBEAVREFEFICELL/AR - BETEE) 820 wol 820 820 0 0 0 0 0 0 of
RELE 17| 18 |BFARE (BFEFCELLAR - BHUFE) 820 1oo| azol 820 o 0 0 0 0 0 ol
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R4.5.24| 19 |BTRER(BRFTEFICEL/AR - BELED 1,080 100 1, 080 1,080 0 ] 0 0 ¢ 0 o
Re.5.25| 20 |BFFHER RFEFIZELL/ R - EEZER) ro0| 100]  1.0s0] 1080 0 0 0 0 0 0 0
R4.5.301 21 |BFHEERBFEFICELEAR - BEEERE 540 100] 540] 540 0 0 0 0 0 0 0
RAE.3N 22 (EFFEAEH (RFEFICELEAR - BHELEHER) 1,080 mol 1.oso| 1,080 0 0 0 0 0 0 or
R4.5.28| 28 |RERMEHFBRGAS) 12,000 5u| s.nool 0 0 0 0 0 6,000 of - |
SAK 254, 300 160, 267 13,673 69, 778 0 0 0 66, 946 9,870 0|
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R4.6.4] 1 |HV 2,923 50| 1, 461 1. 461 0 ¢ 0 0
R&G.10| 2 [HuY s 3.000 sol 1, 500 1,500 0 0 0 0 —ol
RA.6.11 3 |HVU 3.32 sol 1. sso' 1,660 0 0 0 0
Re.6.220 4 |Huy i 3.328 5o| 1, ss4| 1. 664 0 0 0 0
R4.6.25| 5 [Hw1ik 3,330 5o| 1, 665 1,665 0 0 0 0
R.5.1| 6 |@mpassss cEasm  ( Fﬁ/gy\) 4,400 wol 4, 4oo| 0 0 4, 400 0 0
Resd| 7 (wBAEEEE caawM) (4 H/;a} aaoo| 00|  a.400] 0 0 4,400 0 0
R4.6.30| 8 |EHAHAEKTAD 110,165| 50| 55082 0 0 of 55082 0
Re.6.30] 9 [REREBHEIFHRTAD 12,000 50} 6,000 0 0 0 6. 000 0
R4.6.10) 10 |BSHBEEGEAM (HFRML 1 0FMALE) 12.607] - 3.035' 0 0 0 0 3,035
RA.6.4] 11 |EEFERAHAEBRS) 9.246]  50{ 4, szal 0 0 0 0 4.623
RA.6.6| 12 |HBHEHESL AN 7,638 504 3.819 0 0 0 3.819 0
R4.5.30| 13 |¢Fst 1.868|  50] 934 0 0 0 0 934
R4.6.13| 14 |BFHER (RFBFICELR/AR - BHIES) gz0] 100} szol 820 0 0 0 0
R46.14| 15 |BFEER (RFEFICELI/IR  BHITEHE) g20] 100] az_o' 820 0 0 0 0 0
RA.6.17] 16 |EBFFER (RFEFICELLEAR - BETHR 1,080] 100] 1. 080 1,080 0 0 0 ] oi
Re.6.215 17 |BFFIAER (RFEFITELEAR  BHEEER) 540] 100 540] 540 0 0 0 0 —ol
Re.6.6( 18 |EEFFERER (ETCHE) 5.370[ 100 5. 370] 5,370 0 0 0 0 ;l
6AL 186, 856 98,873 16, 580 0 8,800 64 001 8, 502 71'
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RETI| 1 |HY 3,085 5o| 1,547 1,547 0 0 0 0 0 0|
R&.7.21] 2 [HV Y 3, 528] 50| 1,764 1. 764 ] 0 0 0 0 o|
R.7.31| 3 |EBRRABAY 660 5u| 3:0] 0 0 0 0 0 330 o]
Re.7.311 4 |RWEASREAK aas| 5o| 494 0 0 0 0 o] 494 oi
R&.7.290 5 |WEEFRELHEAS) 110, 165 5o| 55,082 0 0 0 0 0 55. 082 0 o|
RLT.4 & |BEAERKLEAD 8, 258 sul 4, 129] 0 0 0 0 0 4129 0 )|
R4.6.30( 7 |HEEESAY(5/1~5/31) 9,246 5o| 4,623 0 0 0 0 0 0 4,623 q
Re.6.7| 8 E)E_w U—AR(ZRHCECAR ) —2BA24) (70 9,900 50| 8, 950) 0 0 0 0 0 o 405 ol
27 9 |3 )E_& U—ABERKCEDHR ) - 24) (86 9,900 5o| 4.950] 0 0 0 0 0 of 4950 of
RA.7.80 10 |EFFAER (RTFEFICELELAR - BEZHER) 540 100| 540' 540 0 0 0 0 0 0 |
RLIN 1 |1BFAESE (RFBFICELEAR - EHETEH) 540 100| s40] 540 0 0 0 0 0 of
R4.7.15| 12 |BTEHEE RTEFICELELAR - EECEE) 1,080 wol 1, 080] 1,080 0 0 0 0 0 ol
RN 13 HEFESBEAH OREK 1 0 AL 12,7621 - 3,035 0 0 0 0 0 3.035 ol
ol 0 0 0 0 0 0 oI
ol 0 0 0 0 -9 0 0 ul
ol 0 0 0 0 0 0 0 o]
ol 0 0 0 0 0 0 0 o]
ol 0 0 0 0 0 0 0 ol
168 170, 662 .06  sam 0 0 0 ol se.au] 18382 o
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i (%) BEFER | WER ziar | maner |TORNEE qunan | weuar | sean | swe AR
ra.78l 1 |Hvu LR 3,364 50 1,682 1,682 0 0 0 0 0 0 0 ol
re713| 2 |HvuLe 3,768 50l 1.ev] 1,87 0 0 0 0 0 0 0 o'
re.7.19| 3 |HUY LR s8] sol 1 1, 741 0 0 0 0 0 0 0 o
Re.8.21 4 |HVULR 2,730 sol 1.365 1,265 0 0 0 0 0 0 0 ol
R4T. 5 |FEESEE (HEHE) GAM 4,400 1oo| 4. 400] 0 0 0 0 0 4, 400 0 0 ol
R&.8.1) 6 |FTMIEEERE (BAOFKME) (BAS) 4,400 100| 4, 400] 0 0 0 0 0 4, 400 0 0 ol
RL.8.1| 7 |EEREERRGAD 12, 000 5o| 6, 000 0 0 0 0 0 0 6, 000 0 o'
RA.8.31| 8 \EEEEHIZHROBM 12,000 5o| 6. 000 0 0 0 0 0 0 6, 000 0 of
ra g3 o [EEFTEMGN BTN Y0, 000+RAFHN notes|  so| s 0 0 0 0 0 0 o| 55082 0 0
¥165) (98 %) |
- 4 JovN—H554 095y bR
Ré.8. 10| 10 ﬁ‘teﬁmﬁj\i;@!gﬁ(;v YI=TTAXTTrRY 5R s.2s¢| so] a4 0 0 0 0 0 0 0 4117 oI
00REEHRHE S va—vivwFTIoy 5 LBASAR
Ra.8.23) 11 [ 302270,/30)  foia ket a4 165 sl 22,082 ol 22089 0 0 0 0 0 0 0
9 0 0 0 0 0 0 0 ol 0
ol 0 0 0 0 6 0 0 0 o
ul 0 0 0 0 0 0 0 0 of
oI 0 0 0 0 0 o 0 0 q
ol 0 0 0 0 0 0 0 0 0
o 0 0 0 0 0 0 0 0 ol
oF 0 0 0 0 0 0 0 0 ol
sAl 208, 693 108, 745 6,664 22,082 0 0 0 s.s00]  67.082 §117 —ol
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R4.9.5| 1 |EFMERENEEAE (FTURLF~OEREDR) 29, 480 100' 29, 430/ 0 0 29, 480 0 0 0 0 0

R4.9.3] 2 [HUY L 2.875 50| 1,437 1,437 0 0 0 0 0 0 0
R4.9.17] 3 [HYY e 3.213 5o| 1. 608} 1,606 0 0 0 0 0 0 0
Re.0.23] 4 |HUY R 2,949 5o| 1.474 1.474 0 0 0 0 0 0 ol
re.9.30| 5 |FEOTLIEH EEMEEN ¥ 110,000+ A FHH 10.165] 50 55, 082 0 0 0 0 0 55, 082 0 0

¥ 165) (1084

R4.9.24] 6 [REREHEIZL(I0BS) 12, 000 sol 6. oool 0 0 0 0 ) 6,000 0 ol

RiQ.G 7 |FEMEY (HEFRE) A 4,400 mol 4, 4oo| 0 0 0 0 4,400 0 0 ul
R4.9.22 & ;)‘: —HU—AREBOEDAR Y —RHEARH) 08 9,900 snl 4 gsol 0 0 0 0 0 o] 4950 —ul
R4.0.22{ o [EIEGERIM (9 BERS) (8/1~8/31) 9,245 5o| 4, szsl 0 0 0 0 0 0 4,623 oI
R4.8.30| 10 |EZEMEAYE (8 BF#KSA) (7/1~7/31) 9,246 5o| 4, szsl 0 0 0 0 0 0 4,623 0
Ra.8. 10| 11 PEEMERAM (7 A#EKkS) (6/1~6/30) 9,246 50| 4,623 0 0 0 o 0 ) 4,623 0

R4.8.3| 12 |HYY e 3. 456 50' 1,728 1,728 0 0 0 0 0 0 0

Ra.8.7] 13 [Hw U 2.002] 50 1. 451 1,451 0 0 0 0 0 0 0
Re.8.18] 14 |Hv vyt 2.248]  s50) 1,124 1,124 0 0 0 0 0 0 )|
Re.8.21] 15 |FHuy ik 3.096|  5of 1. 548] 1,548 0 0 0 0 0 0 |
R4.6.24| 16 |BEEAFEME (47/%) 2.100] 50 1. 050] 0 0 0 0 0 1,050 0 |
R4.2.19| 17 |BIHFBERE (PR Y, 2,208} 504 1.104 0 0 0 0 0 1,104 0 of
R4.8.30] 18 ;‘})E_m Y- AH(EBHCE VAR )~ &) @A 9,900 soi +.950] 0 0 0 0 0 ol 4950 o
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R4.8.4] 19 |HEBERESKEGAS) 7,434 sol 3.7 0 0 0 0 0 3,17 0 oI
R4.8.22| 20 |RFBARETR 1,836 5o| 918 0 0 0 0 ] 0 918 ol
R4.8.16] 21 |HTHERER (RFEFICELEAR - BEEER) 1,080 1uo| 1.030| 1,080 0 0 0 ] 0 0 ol
RA.9.26| 22 [P —EMAKHEAM) 1,760 5o| asoI 0 0 0 0 0 0 880 ol
sAtE 240, 740 137, s4a| 11. 448 0 29, 480 0 4,400 66, 953 25,567 u|
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R4.0.16] 1 |RIFEABAE 1,548 50| 774 0 0 0 0 0 0 774 or
R4.9.21] 2 |EFHABAE 4,272 sol 2, 136I 0 0 0 0 0 0 2,136 )
R4.9.27] 3 |EHRLBAY 440 sol zzol 0 0 0 0 0 0 220 0
RA.10.6| 4 |EBFHIHEAR 712 50| 356I 0 0 0 i 0 0 356 ol
RA.10.7| 5 |EEAESEAR 36,080 50' 18, 040| S0 0 0 0 0 0 18, 040 ol
R4.10.4| 6 |E%H 84f B0 42 ] ] 0 0 0 0 42 —ul
R4.10.20] 7 |ELEE 2.688] 50 1,344 0 0 0 0 0 0 1,344 nl
R4.10.25] 8 |EHEFRBEEME GHFEHEKE ¥ 110, 000+ FAF 4 ¥ 165) 110,165 50] 55,082 ¢ 0 0 0 o 55,082 0 oI
R4.10.5] 9 PEBERARETHR 3.058 50| 1, 529‘ 0 0 0 0 0 0 1.529 ol
Ra.10.24] 10 ;)E—mtﬁfﬁﬂ(#v/ YR T 42T TxR) OR 1,147 sol 513I 0 0 6 0 0 0 573 0
R&.10.14] 11 |Hyy s 3, 086 5o| 1. 543| 1,543 0 0 0 0 0 0 of
R&.10.18] 12 |Hv it 2,757 50 1, 373' 1.378 0 0 0 0 0 0 oI
R4.10.22) 13 |HYULR 2,719] 50 1,859 1,359 0 0 0 0 0 0 —ol
R4.10.11] 14 [RBHER (v v—1L) 11.318] 1000 11,316 11,316 0 0 0 0 0 0 ol
R4.10.28| 15 |FFEAEENEHE (GRAHHM) (10AH) 4 400 100] 4, 400] 0 0 0 0 4, 400 0 0 ol
RA.10.29] 16 |REFEEBRER/RIAS 12, 000 50' 6, oooi 0 0 ] 0 0 6. 000 0 o’
RA.9.9| 17 |[HU Ui 2,876 sol 1, 438| 1,438 0 0 0 0 0 0 0
R4.9.27F 18 [Huuy 3,308 5o| 1. 654| 1,654 0 0 0 0 0 0 ol
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Re.10.5] 19 {#Hvu L 350 sol 1579 1,570 0 0 0 0 0 0 9
ra.10.28] 20 {HUyofk zeai| s raw] v ) 0 0 0 0 0 —ol
Re.10.24] 21 EEDEAL 2| s 141 0 0 0 0 0 0 141 0
R4.0.12 22 [HHREHEMSEAM (EEN1 oFALLL) 12,620 — 3. 000 0 0 0 0 0 0 2,000 0
1084 221,339 115,214 21.577 0 0 0 a400{ e1.082] 28 155 of
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e ) mEmu | men wr | macew |FARAEE pean | wuaan | ssme | oser | ex

R&11LS| 1 [Hvu L 3,009 50 1.519 1.519 0 0 0 0 0 0 0
Rttt 2 |HvyLe 3,100] 50 1, 554 1,554 0 D 0 ) 0 0 0
Re11.16] 3 |HU UL 3,843 50 1,921 1,921 0 0 0 0 0 0 0
Re.11.20] 4 |FHU U 2.408]  sol  1.240 1,249 0 0 0 0 0 0 0
REIL2| 5 |[HVuLR s.068] s0l 1532 1.532 0 0 0 0 0 0 o'
REIL1| 6 |EISARMAL 2.165| 50}  1.082 0 0 0 0 0 0 1.082 ol

— — - Ll % — P
Re.in7| 7 ;{)E BYU—AR(EBOETAZY —RBAKM 0A 1 g g9 50 1.950] 0 0 0 0 0 of 40 o
RA1.30] 8 |HEMEEMSEAM CGnEf1 0FALLE 12.647] - 3.005' 0 0 o 0 0 0 3,006 o
R&11.4] 9 |EFEHEBERAEOAS) 10. 608 50| 5.304' 0 0 0 0 0 5. 304 0 0
BEHRERER LR (IR - HRT 1 5% - His - I

R 1300 10 | Vel 11 (S50 4 G 3 | 1.442.06] o7 1.308. 765 0 1,398, 765 0 0 0 0 0 0
oI 0 0 0 0 0 0 0 0

o 0 0 0 0 0 0 0 0

0 0 0 ) 0 0 0 0 0

0 0 0 0 0 0 ) 0 0

0 0 0 0 0 0 0 0 0
ol 0 0 0 0 0 0 0 ol
oH 0 0 0 0 0 0 0 ol
ol 0 0 0 0 0 0 0 i
1A 1,492,899 1, 420, 882 7,715 1,398, 765 0 0 0 5,304 9.038 o|
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R&.12.23 1 |EEHBEHEBL(BED) 12,000  so0f 8. 000 0 0 0 0 0 6, 000 0 0
R4.12.30) 2 |BEFREEN HEAENY 1B 110,165] 50y  5%.082 0 0 0 0 0 55, 082 0 0
re12.2) 3 [HUuLRE 2.875| 50 1,437 1,437 0 0 0 0 0 0 of
Re.12.7] 4 |HUy ok 2,908 50' 1,454 1,454 0 0 0 0 0 0 0 |
Re.12.12] 5 |HVULR 2,985 5o| 1,492 1,402 0 0 0 0 0 0 o]
Ra.12.17] 6 |HV R 3.000 sol 1,500] 1,500 0 0 0 0 0 0 oI
R&.12.22| 7 |Hv U 3. 248 sol 1,624 1.624 0 0 0 0 0 0 ol
R4.12.29] & |HwU e 3,305 sol 1, 652 1. 652 0 0 0 ] 0 0 0|
RA.11.28] 9 NEBIEHHEMLH HEAFHE 1285 110,165| 50 55, 082 0 0 0 0 0 55, 082 0 oI
) — = T ) — B
re.11.17] 10 ;'4)':) (ﬁéﬁf*‘(—iﬁc‘: THRRAN—ABRASHE CFR] 00l sl 500 0 0 0 0 0 ol 500 o’
— —_— — -3 — e
Ré.12.22] 11 ;'4)8) (ﬁ;m«'&ﬂ(—ﬁ% PHRAN-ABRARM CFR] o000l sl 5005 0 0 0 0 0 0 5,005 0
RA10.26] 12 [EERFEFE 1.706] 50 853 0 0 0 0 0 0 853 0
RENS| 13 |EBASHAL 5500 s0f 275 0 0 0 o 0 0 275 ol
R&1116| 4 | BHEASKEAYR 22000 50] 1. 100] 0 0 0 0 0 0 1,100 of
Ra. 11.28| 15 |FHAKEAL 965 5ol 482 ¢ 0 0 0 0 0 482 of
RA.11.30] 16 |EFBREAL 1,598 sol 799J o 0 0 0 0 0 799 ui
Re.12.22] 17 |EFERAIMAL 445 so| 222 0 0 0 0 0 0 222 ;l
ol 0 0 0 0 0 0 0 —ol
1281 278. 135 139, osal %, 159 0 0 0 o| 116,164 13,741 o|
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R5.1.26] 1 |EESIEEAY HEAZMHD B9 110,165 50 55, 082 0 0 0 0 0 55, 082 0 or
RE.1.26] ¢ |[REEAHEBALCES) 12.000] 50} 6. 000 0 0 0 0 0 6,000 ] 0
R5. 1. 3r 3 |HVY i 3,328 sol 1,664 1,664 0 0 0 0 ] 0 ol
R5.1.7] 4 |HVY it 2,239 50 1.119i 1.118 ] 0 0 0 0 0 o]
RE.1.12| 5 [HY U 14t 3.211] 50 1.605| 1. 605 0 0 0 o 0 0 ol
R5.1.16| 6 |H Y1) L4t 2,500] 50 1, zsol 1,250 0 0 0 0 0 0 UP
Re.1.21] 7 |AV UL 3,018]  s0f 1,500 1,509 0 0 0 0 0 ] 0
R5.1.27] 8 |Hvurit 2,718 50' 1. 359 1,359 0 0 0 0 il 0 ol
R&11.28] 9 |EHEHREAL 667 sol 333 0 0 0 0 0 0 323 0
Re.12.8] 10 [EHBREBAN 163 50! 81 0 0 0 0 0 0 81 oI
Ra.11.22| 11 |EEEEEE (11 AERS) (10/1~10/31) 9.244] 50 4,622 0 0 0 0 0 0 4,622 —oP
R4.12.22| 12 |[FEEEEEAM (128K (11/1~11/30) 9,297 50 4, 648k 0 0 0 0 0 0 4,648 0
R5.1.30] 13 |EEEEREM N AFKRS) (12/1~12/31) 4,279 soi 4,639 ) ¢ 0 0 0 0 4,639 0
O —#) — AR (ZERE KA Y - S FEH
R5.1.30] 14 ) (B%) 10,010 50| 5,005 0 0 0 0 0 0 5,005 oI
R5.1.4] 15 [EFEAESN 1AL (10/11~11/8) 7,508 sol 3.754 0 0 0 0 0 3,754 0 ol
R5.1.20] 16 [HIERBAE(HZE-#avh 220} 50 110| 0 0 0 0 0 0 110 o'
Re.1.20| 17 |RERARETR i.419]  s0) 709’ 0 0 0 0 0 0 709 0
R5.1.30| 18 |BHAQBAZ(WUTIPLIL - HUFTTusAD 1.053] 50 526, 0 0 0 0 0 0 526 ol
1R 188, 039 94,015 8, 506 0 0 0 0 64, 836 20,673 ol
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B (%) mEawn | @ wr | memeg |FWENER pupng | anman | semm | osme | e
Ra.11.24] 1 ;F—mﬁm*"(**’/ Y= T 42T D) (10R rossf  sof 531 0 0 0 0 0 0 531 0
. ;)E—%Eﬁ*i(#—«v/ YR—ETF 4TS x0) (1A 1483 50| a1 o 0 o o 0 0 241 q
w123 3 ;)E—ﬁ!fifﬁ##(#«v/ LR F 4T T%i80) (128 112 50| so o 0 o o 0 0 560 o
Ré11.2] 4 |RBEMEEEAGE OGRS 44,000 5o| 22, oool 0 0 ] 0 0 0 0 22, ouol
R&.1.2| 5 |EEERAABNISE ALK (1084 44,0001 50 22, oool 0 0 0 0 0 0 0 22, oooI
Re.12.19] 6 |BrFESHEBIREEAGE (1A 33.000| 50 16, 500 0 0 0 0 0 0 0 16, 500'
RE.1.16| 7 | EERHBIRA ASR(12B4) 49,500| 50 24, 750 0 0 0 0 0 0 0 24. 750
R5.2. 190 8 |EEEEEEBIRA AEE A 43,000 50 21, 500 0 0 0 0 0 0 0 21, 500
R5. 1,20 9 |EBEASEAK(OE—BE REARETN) 5,520 50 2,760 0 0 0 0 0 0 2,760 0
Re.2.21| 10 |BHEASBAR QO F—R#%) (EEHAREFH) 16,0671  s0] 8,028 0 ) 0 0 0 0 8,028 0
Rs.2.24| 11 ;{F“'ﬁﬁm”(**’/ PR TAVT IR 2ot s res 0 0 0 0 0 0 1,125 0
R5.2.2| 12 |EwHHERE 2.208 5o| 1.104 0 0 0 0 0 1,104 ) ol
Rs.2.7| 13 ;F"‘m U—AR(ZEHCE DAX Y —RBARH) QA a0 5o .ss) 0 0 0 0 0 0 4, 950 ol
RE.2.1| 14 |RERABXEFH 829 sol ml 0 0 0 0 0 0 414 —Ol
R5.2.19] 15 |EFXRAREFR 1,658 sol azsl 0 0 ) (] o} 0 £294 —ol
Ro.2.6] 16 HESBARGHEASK Iy I v FH8E) 550 5u| 275 0 0 0 0 0 ¢ 275 q
EHASEALG YR TR 2E - MNE. BET

Rs.2.8] 17 5}[1’;’1\?’3{@‘ 1 ATL28) 1,080] 50 990 0 0 0 0 0 0 980 ol
R5.2.13] 18 (EHARKEAE (BRI ANL) 1,300 50 654 0 0 0 0 0 o 654 ol
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i (5) mEOnR | @ m | memeg [FARREE| punoe | woman | sema | sen AbR
R5.2.20] 19 |HERMAL 330! sol 165 0 0 0 0 [ 0 165 0
Re.2.2] 20 |Hwu it 3,281 snl 1, 640] 1,640 0 0 0 0 0 o |
R5.2.7] 21 |Hvy i 2,854 sol 1,427 1,421 0 0 0 0 0 0 0
Re.11.4] 22 |EpsEsd 1,176 sul L | 0 0 0 0 0 0 588 o}
R4.11.8[ 23 |&Ri%dd B4 5o| 42 0 0 0 0 0 0 42 ul
R4 11,10 24 |Emi%d 84 sol 42 0 0 0 0 0 0 42 ol
RS. 1. 11| 25 |Epitid 84 5o| 42 0 0 0 0 0 0 42 oI
R5.2.24| 26 |ENiEd 140 5o| 70] 0 0 ¢ 0 0 0 70 ol
288 267, 461 133,727 3,067 0 0 0 0 1,104 22 806f 108, 150|
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we (%) pawnn | weg | s | menes |FREAFE) punpn | wmman | sman | smm | ase
RS.3.17) 1 |EEH (REEDHOANEERERESHE ) 250] 100 250} 0 0 0 0 0 0 250 0
R6.3.2] 2 |HEAKBALLUSBAE)) 860 50 330] 0 0 0 0 0 0 330 0
R5.3.24] 3 |EHARKBALE(FEFRERR) 15. 750 50' 1,875 0 0 0 0 0 0 7.875 0
R412.23] 4 PEEASEEE(IES) 12,000] 50 6. oool 0 0 0 0 0 6. 000 0 0
R5.1.26] § |REAREGRI2AS) 12.000] 50 . uuul 0 0 0 0 0 6.000 0 0
RS.2.21 & |HREREHESHKCAS) 12.000] 50 6. ouul 0 0 0 0 0 6.000 0 of
R5.3.24] 7 fgf ﬁﬁsg‘;‘gﬁf}ﬁﬁ f’:i%g)/ WFETHF=H12.000/30 11.600] 50 5, aool 0 0 0 0 0 5,800 0 0
RE.3.23| 8 |aF—HERBCAES) 8.610] 50 4,305 0 0 0 0 0 0 4,305 ol
R5.3.7| 9 [2E—#U—ZK(3AS) 9.900| 50 4. 950I 0 0 0 0 0 0 4,950 ol
R5.3.23) 10 |EXEEEENMBIBRRAMH 2AS) 66.000( o] 33, oool 0 0 0 0 0 0 ol  33.000
Re.3.20 13 |EFEMRH (2 B#ERS) (1/1~1/31) 9,357} 50 4, ssal 0 0 0 0 0 0 4,683 i |
RE.3.24) 14 |HERMERM (3 BEARS) (2/1~2/28) 9,431 50 4, 715' 0 0 0 0 0 0 4,715 oI
RAILISL 15 |BEE — M HRAFHE) (1TAS) 88.825) 50| 44,412 44.412 0 0 0 0 0 0 —ol
RA1Z7| 16 |BBEY—RM (285 44.330| 50 22,165 22,165 0 0 0 0 0 0 ol
RS 11 17 |BBEU—2RBORS) 44.330] 50 22.165]  22.165] 0 0 0 ol 0 ] —ol
RS.2.7| 18 |EBEU—AMCEAD 44.330| Sof 22,165 22.165 0 0 0 0 0 0 0|
R5.3.7| 19 |EAA®E -2 EBAS) 44,330 sof 22165 22,165 0 0 0 0 0 0 ol
RG. .31} 20 MY (HEHE (1BM 4. 400 1ool 4,400 0 0 0 0 4,400 0 0 ol
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RS.2.28| 20 MRBARGERHS (BAEEHBED) A 4.400 mol 4, 4ool 0 0 0 0 0 4.400 0 0 0
R5.3.31| 22 LRERAMERM (MABHBED GRS 4, 400 mol 4, 4oo| 0 0 0 0 0 4,400 0 0 0
RE.2.6] 32 |HEEBHRESRMLEN1/9~12/T 8.015 sol 4,007 0 b 0 0 0 0 4,007 0 ] |
2023+3/6 | 33 |BIEFTBAL (12/8~1/11) 12. 449 5o| 6,224 0 0 0 0 0 0 6,224 0 of
RG.2.8| M |EHASHAL(/ — VIV (MEESHBMEBAR) 56.800] s0] 28 400] 0 0 0 0 0 0 0 28. 400 of
RE.3. 1| 35 |BIEATIEY +EEH 2B 110, 165 sol 55, 082 0 0 0 0 0 0 55. 082 0 ol
R.3.22| 36 z(gggﬁﬁﬁﬁ %2';;”3/_31/) v IIRTS LEARRR 48,000 sol 22.00 o| 22,000 0 0 0 0 0 0 ul
R5.3.20| 37 ?%f&ig;&ﬁlﬁh—ﬁ% Yo RATALT - EE B | g 9o| 1,311, o98) 0 0 1.311, 696 0 0 0 0 0 ol
RS.3.23] 38 |REBUERSHEEMRIE (FH4 > - B - HEIA - T8 829,707 wol 929, 797 0 0 929, 791 0 0 ] 0 0 ul
384 3. 065. 580 2.587.386]  133.072 22, 000 2,241, 493 0 0 13, 200 89.113 55,508 aa.o—oo|
Bt 6. 790, 014 5.198. 732 263,950 44,082 3. 710. 036 29, 480 0 52.400|  729.860| 229,174}  139. 75(]




